= = PN P A
v 2009% F1[6 MFHREMICIRE (X3 —F:09280740) TeE214E6 5 166 ()
Bt — & AEI=/N—ERRHRESE (FREI— F : 283090)
EE/SMAH 141 2 {i 31 4 i 5 {iz 6 fi 7 fiL 8 fiI
3000m |l R#WEREA 1 847751 A% &HAT 2 8756786 |MRE  FnE 1 901749 [AH & 2 902711 | H Y 2 911790 A BRI 9724714 | ElF WML 3 926723 [ILA FIK 3 928714
% (824) |ZBE R B ZHVE I & BRI R SEEHKR B am & i )1 HHF P
z 5000m |#bE %EH 2 1454781 (A —& 3 1500761 |[MEF B3 15702756 | kAL BO15°05724 |FEE M 3 15708701 [MEBF PFE 2 15708713 ¢t Thif 2 15718736 [HIL Y 3 1520732
(81%) |HEY R B SER Rz H50D ZHVE I & B B B
= 1500m |# HX 3 504750 \ATIL AR 3 506700 (LA B 2 509773 B R 1 515757 |[@JFMiME 10 5716796 IR HAZ 1 5716798 /e VRHE 1 5720724 /AR SRFT 1 5726734
(184) |4+ e, PN BV N ST BV N EH& 9 4
z 3000m |4 203 1012798 |[IUH KAk 3 10719708 |[FOHZARHEHE 1 10722730 || FJh 3 10728760 [MEF B 1 10729775 | “HKELG 1 10731785 | FJI R4 10732760 | FFFAET 110734782
(408) |WEAT KPR BRI R SER HE R DS EH& FREFAC BRI LR
1500m |3 W& 538767 |k A 545762 |WH  [EF 5 51794
N (3%) | =AKJrRC ZARJrRC B 28 vl
= 4%x100m
(0F-L)
£
?
800m |f@H #l 2738710 |H B 252715 | Fedk EEAR 302783
N (3%) | =AKJrRC ZARJrRC EULZHN
= 4%x100m
(0F-L)
=
?
P EF] mE-EE | e | EE METRLEEEEHS # H:_T K — R
B BRLRRE i 27.2°C | HAEH 0.1m 50%
188 i 25.4C | dtdts o2m | 60% |1 METHBERERS EHE: H B £ B
1 9B i 25.00C | ALAEH 0.4m | 61% EH P BRS
BRI T B # 24.0°C | dEdE# 02m | 63% LYyl PSR B OH R




